MATH-1860







Name _____SOLUTIONS____________

Exam 4

Spring 2002







S.I.D.# ___________________________

INSTRUCTIONS: You must show enough work to justify your answer on ALL problems.  Correct answers with no work (or inconsistent work) shown will not receive any credit.  The point value for each problem is given.  Give exact answers.  (No decimal approximations.)  You are permitted to use a non-graphing calculator.

1.
Determine whether the following integrals converge or diverge.  If the integral converges, then state its value.  (9 pts. each)

a.
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Answer ___diverges______


b.
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Answer ___6  (converges)____

2.
Determine whether the following sequences converge or diverge.  If the sequence converges, then state its limit.  (5 pts. each)
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Answer ___diverges______

b.
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Answer ___0  (converges)___

3.
Given the series 
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Answer:  
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4.
Determine whether the following series converge or diverge.  If the series converges, then state its sum. 
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Answer ___diverges_____    (4 pts.)
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Answer:  
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5.
Determine whether the following series converge or diverge and state the test used.  (45 pts.)
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Answer __diverges by LCT__     (8 pts.)
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Answer __diverges by the Divergence Test__     (5 pts.)
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Answer __converges by the Integral Test__     (8 pts.)
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Answer __converges by LCT__     (8 pts.)
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Answer __diverges by BCT__     (8 pts.)
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Answer __converges by AST__     (8 pts.)

6.
Find an approximation to the series 
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7.
In class, we showed that the sum of two divergent series is not necessarily divergent.  If 
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